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TlME : 120 MINUTES - ENGLlSH / KANNADA MAX. MARKS : 100 -

lnstructlons to Candldates

1. The Question Booklet contalnlng 100 questlons and the OMR answer sheet is
given to you. ’ - '
2. All questions are compulsory, each question carries one mark
3. During the examination, |
* Read the questions carefutly : :
- __» Completely darken/shadethe relevantoval agalnstQuestuon No. inthe OMR answer sheet
using blue/black ball point pen Do not try to alter the entry and not to do any stray
~ marks on OMR Sheet. ) SRR -
* Ex:Inaquestion paper if No. 3 is the correct: answerfor Questton No. 20, then darken
- inOMR answer sheet shade circle 3 using. blue/black ball-point. pen as follows. |
20.@ © @ @  (Thisis an example- only) '
4. 1f more than one oval is darkened for a given questlon such answer |s treated as |
~~ wrong and'no marks will- be glven : '
5. The candidate and Room Superwsor should- s;gn in- the OMR sheet ‘ -
6. Candidate should return the OMR answer sheet only to the room superwsor before 1
~ leaving the examination hall. : :
7. The calculator moblles and’ any other electromc equtpments are not allowed inside
the examlnatlon hail. : " '

. English versuon of the question paper will be conS|dered as fmal m case of any dtspute
ar:smg out of vanatlon in translation version.
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. GENERAL MENTAL ABILITY TEST STRTE
| | TR, aﬁ@é WRHFF Toed

(Questions : 1 - 9) (3 ﬂ@éo1 -9)

Directions : Complete the given number/ , ,@asér{e;; BREITOT  TO3F ORNPOT

letter / figure analogy by choosing the correct rsfelevvnin] emszjm-:b 302 éfawdaas pslekior) /

.

.

%, answer from the given alternatives. @66/ 28 Jﬁ@é "améﬁ%fa’n o@wrﬁm@fo
¥ 1. 496 : 204 :: 320 : ?

! 1) 90

2) 110

£ 3) 115

. 4) 135

\s g 1,386,170

3 110" 7 156

N 1) — 2) —

& N ) 17 ) 13

; : 3) il 4) n

3 13 A7

; 3.11 18 32 60 : 17 30 56 108 :: 13 24 46 90 : 2

" | 1) 17 36 68 138 I

. 2) 19 30 52 124
3) 19 36 70 136
4) 19 36 70 138

O S .

4. FLOWERY : 21012D 2212 : BUNCHE S

1) 25 F13X 19V 8

s R ' ) 2) 2F 14 X8V 19

¢ | 4 83)25 H13 P19 R8 .
’f | 4 2H14P8R19

\ 5. AWSXC :RNJOT;Q ? :UQMRW
[ | 1) FAVZD |
g ' 2) DZVAF

SO . 3) INRMH

v 4) DINJF
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3

1) DKCFA
 3) AFCKD
- 4) LDAIB

. 2)BIADL
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 GMAT(K-10)

- 4mmmmMmmwmw
(Questnon 10) .   ,} o (eﬁ@ ) :

10. P, Q, R and 3 are four persons 10,100 29¢ x 100 ¢ aﬁms'd uocﬁ:s

e

: standmg at the corners of a square

park of area' 100 m x 100 m. They

- - move anticlockwise along the edge
~of the park by 100 m, 150 m, 200 m
and 250 m respectively. Now in which

direction is Q with respectto S 7

PR LaEN ms wmei’n'e?c’)
P, Q, Rwa@'a Sm@a wéﬁ% ?ooémé

" awth evrm aszs egoasso TS, semn'

ek 100 d0e, 150 aac 200::):@ s

- 250 ¢ WRT 6&:»&‘»8 Q w S oaaozﬁ

5

Ay

oSsas aawmﬁ ?

Sp R Nem
N : Ko .
P o o
1) Southeast 1) eRgod
2) Southwest 2) B3,
3) Il:llort:eastt. o 3) 68?535
‘4) ort \»Nes_‘, )mo:’mﬁ
(Questlon 1) (X3, : 11)

11 A person starts from pomt A and 11, 8, d%oﬁa& A womaaod BATED
- walks 800 m in the northeast direction é_wa% aease 800 oo¢ 2392 B QS:&
to reach B. Then he turns towards « 5t e
. east and waiks 350 m and reaches = 3@:&:3333 a’;o:é’dmaﬁ? @F?FQ 350 ;M
"C. He then moves in the southwest ~ ~ ScH C CH, ST, @O FTHE,
- direction by 650 m to reach D. He 'aga*)@ 650 s::c @O DA ud:a-aé sﬁoé
again moves by 250 m eastward and - e 63&5@ 250 o0 83 E ﬁ aooc’n
 reaches E. He now walks 150 minthe
.-southwest direction and f inally arrives Q’D@Od ;3;3 %&35 @623@ 150 &0¢ F20
~ at F. Find the distance between A ' esoéa‘iamh F oy, 3@55339?3 A owon
and F.. Fi 2o c&_@d&S"‘ 7.
1) 400m_“ SR |
2) 500 m
3) 600 m
4) 800m
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-;:_,-,-(Questlons 12 16)
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(ZBAw : 12-16)

Dlrectlons Identify the numberofspecnfled U Beusng : YR - 6@@3 o’gw gsgﬁe;@l;f

geometrlcshapesmthe given diagrams and, = Rp3 m@aéeo& 93, @mf NO@j odaa’o -
-mark the-correct answers. '

glvenflgure"

the given flgure ?

_:'ﬁoméo@db Wédﬁ&b m'cbé,-o .

| ‘12 How many SQUARES are there in the 12 é.ra&édaaﬂ e:s%éoﬁ:@ am 233571@53 ? |

1) 23
2) 22
4) 20

~ 13. How many TRIANGLES are there in 13 %@&5&5 3 303:@2 eba"’ags zsazzri@d ?

| 11 4 How many RHOMBUS are there inthe 14 a@%&w e:?%éoibgz @a@sw@%éﬁ@d ? ‘

givenflgure" e

TR IR (-2
217
3) 18 .
4) 19

s ,)&-,,..-‘__h_..»“*»_,_v,_,_‘_.____—»,__%‘.,_/vh-\_.., et parmaniilats s

Fas LT et

alir ot i

S R f et

A O WOV T O S LT
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T e

 GMAT(K-10)
15 How many SEMICIRCLES are there in
the glven figure ?

16. How many TRAPEZIUMS are there in

the given flgure ?

I_IllllllIlllllIIIIlll!llllllllillllllIIlIIIlililllllIIl
15. $240 eYdebY oy WRFHIReS 7

1) 28

2) 26

3) 24
422

16. 8aL40HR GEICHY oy TWREALS ?

W N
A T ST
© o N O

£

(Questions : 17 — 18)

Directions : Find the correct mirror images
for the following problem flgures choosmg
from-the altematwes

(V3o 17-i8) .
BRWINGD : @@&3‘0‘0&) B BRI NN

AEEG A RS

m’boaa‘aa aaa’rsa wéabown@;’m

B wOSSDE—‘OSDﬁ@OCS '60633&0@0336
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(Questions : 19-20) - . - (gédmfa.:"lg—‘;zkb)f“-
Directions : Find the correct WATER images. - BRUWIN &m&gmwgm&sgﬁem o
for the following problem figures choosing X003 T . &R T3WONFDY

from the alternatives. : - WOIREOINPOT BOTERBOWD.

19.

I M S




GMAT(K-10)
(Question : 21)
21. At present a boy’s father is 6 times
- older and his grandfather 13 times
older than the boy. If six years later,
the grandfather will be seven times
older than the boy, what is the present
age of the boy’s father ?. -
1) 36 years - 2) 42 years
3) 30 years ‘ _4).48 years |
(Question : 22) ) o
22, The present ages of ason and his father
areinthe ratio 5:21. Fouryears earlier

their ages were in the ratio 3:19. What

is the present age of the son ?

letter / figural series by choosing the correct

- answer from the given alternatives.

23. 2, 22, 31, 58, 139, 382 -

IIIIIIIIIIIIIIIIIIHHIIll!llllllll_[lllllﬂllllllli!lll
(3, : 21) ' |

21 W2 aa’;wams 30::5‘@3; amma 23R

| Tohmy FHTN ©T BNS SohLS

eda-.’n mm 13 843 ool o

s‘mf 8038 I Toemy BTN

TP ae:d*-edﬂ 5:&:7153 refeTaer!

AT 503)""9'3% ? o

1) 3B WJIFNEL  2) 42553’&?7?%30 oo

3) B0TRFAD  4) 48 amrﬁe:o

(wé 22)

22, 2.2) TR I ¥R 50:30:5 émai m:bﬁeé
gmsa 5: 21 &Nch T, TR 0083
OTC TeLENE s:%sase 3:19 N3
ZmES B sms o= 7

1) 4years 2 6years LV ) ammens  2) 6BIEAB
3) 8years ~ 4) 10years )77 X 3) Bwas?mfo 4) 10 IRFND
(Questions : 23 - 32) _ G ¢ (BB : 23-32) o
" Directions : Complete the following number / maﬁéﬁ% %Ja@,sdaaﬁ wodms'odm@?od

pfelonwpiey Q)"D@dﬁc’fﬂ =308 3PN NO&D/
w80 /233N 5@9@371@53 TRLEFNRPPR.

1) 17 2) 18 ol = bt
o 420 xR
24. 12, 9, 27, 23, 92, 87, ?, ?
‘ | ! ’ ’ ; , ,!’,’)J/ [é'”@—l 6’)
1) 355, 349 - 2) 385, 379
- ©3) 425, 419 4) 435, 429 M~6_]| 20t-6 )
25. 47, 7, 69, 28, 7, ?, 125, 1344, 159, 13440 '
1) 94, 158 2) 95, 168
3) 95, 178  4) 96, 268
'26. 5 25 105 , 1705 |
11°30° 87° . 771 o B
oy 4B 5 525
258 ' 261
3 625 4 1125
389: ' 7760
. 9
ch G ’t?!*éﬁ o= 2 %
2 ou) L 16
e 4) 4 M@t ")
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27. mj“"mvfn:m_{'ﬁn n’" o «
AN hmmnnmn 2)mnnmnm .
: . 3 nmmmnm  4dnmnmmn
28. WMCS, IYOE, ____, GWMC o
o 1) UYOE 2) QAKU
3 UKAQ 4)PBJT

b B i e e e e e et e T 0 ot Do P,

B

O P



(Question : 33)

* (Question: 34)

GMAT(K-10)

/\

1

2)

@

O@ <

a round table facing its Cen_tre.

a. Cis just left of E - | /
b. Ais the only one between D and E
c. B is sitting oppositeto E

i d. Dis the only one between A and B

Then where is F sitting?

)
3) Between B and C
4) Between Aand C

34. Six eIephants P,Q,R,S, Tand Uare

weighed. The elephant U is heavier

than R but lighter than T. ElephantsP

and S are of same weight. Elephant Q
is lighter than P and R is heavier than
S. Which one of the elephants is the
heaviest ? ' .

1) BetweenBandD X / '
2) Between Aand D X' \ ",\

| IIII||II|IIIlI|Il||||l\|||!||ljil|lll IIII|I|I|||I|||II|

- 3) 4)

| (B3, : 33) | . |
33. A, B, C, D, E and F are sitting around 33. A, B, C, D, Ez3) F 2,0% Toomhadheds

7oZ Dren® dR T TN

%:@Ticvgd.
a. C o EO® 3y acsadgdg Elarty

b A wpde D3y E g, amd
c. Bl ECH QmhoR ockeh 9med

. 34)

d. Degyse A3 Bodh =, 9w -
MRS F oY $9ms?

1) _Ba‘bé_aDquﬁédQ SR

2) AT DRDGFHY

3) BB CRGFHEY

4) A CWFTY

P, Q, R, S, T3y U st «dnesy
3e7 IRROING. U s803» R NoZ
RTINS, &E3 T No3 Brddmends. P
e S BHIARER WL, Quseky P
no3 Zo w3y R &8ck SNoS s,
TR [RNSY @ssos RT3
oo 2 - -

- \‘ iy
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’“i(Questlons 35 40)
. Directions :

BEERE

In: the followmg questnons
.four groups of numbers / letters /- pa:rs ofv L

o numbers are gtven Of these,three are. ahke'»

‘4 ‘and one-is dufferent Fmd the ene whuch s
- :d:fferent e ;

)

Sy
4) 18,342 +
1) 1,4
o 2) 2,12,

33 36

)4 80

(Questlon 41)

4. lfRE:”] 'codedas 74365
Q:Iand ANTHEM a5290148then

| M E R c A N T | L E “can be wrltten | "if:_{i,:ﬂogegmg ME n c A NTI L_E 33; s

("‘3" ned o
Q.raaéa"ri@o & T ﬁa
_'wsosmocscs@m Nogsgw/zame@ Nosséﬁ@/ e
JodmerodneRy
;@mscs a@m@ m 20T 008 BT

C a0 1) ASYLUM T

" .4) PHYSIC

‘mmMjNWWMWWMMWl f?
35~ 40)
R n@@

-r"

_ b0Th R, asasmncs zpaimﬁdo@dm S
zbzﬁoé%a.\ et ‘ e
39 1) LONGITUDINAL

2) TRIBUTARIES
- 3) AGR!CULTURAL
- 4) MOUNTAINOUS

2) RHYTHM
- 3) FLYFOT

j1 RELIC & 743650 o wasa"
- ANTHEMab 290148@0:3;;‘: i

- V%o@ﬁ oﬁeégusacsa

11)8427369054':» .
. 2) 8439695704 .. -
- 3)8457630214;@*1

o 475290634*;61
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(Question: 45) I (T, 45) |
B 45 Directions : When — and=,60 and 45. 2380 : 55333 =, 605433 203,
- 20 are interchanged, find which-one of e 20TIED m@mr{ 3oR %razwdaz:s

- the following equations will be correct. o3z N&aeéd&“@ﬁ) Naomadaa’d
SR U '%;mcjm 50{3380630336

1) 100 80+60><2 20

2) 80720266x3480

©3) 1003803 Sob 4 60 x 2
4) 803 20 s’obx2+4o

(Quésﬁon.:4s)f L (334

46.-Directions : The interchange of  46. X3RN : wodsas'ojme;e:') 3RLSTHE
~ which. of the given numbers / signs in - 030w Nosﬁmfo/ z%a@ﬁ*’é?so @Cz’)@a
the alternatlves will make the given 'axS@a afm&%maﬁ %.ra&édm é’me%ds@@
equation meaningful 2 | OBFBROFTINDIE ?
, R (20+3)x6+8 32=76 - - . .
S8and6 . )86
' 2) +and - e ~-f'2)'+:53323>_33—w .
3) 3and8 T 3) 3HHE
4) x and + A 4) x BB +
(Question : 47) ’ ‘( 53 : 47)
47. Direction : : | 47 Rousdnie :
.. KV standsfor x . Voo xewS
A standsfor + . A cdo+ o83
v stands for - : a . Y O30 -&md
A stands for -+ o A o3+ end
Then, which of the follewing will be correct ga; FBNS ossaas 2,00 BEWLCTTLIT BOCIRN
equations ? | " fadan ?

1) 72 /\64A16<16V 8 VvV 72
2)48 A 12 V 16 > 80 v 32 A 24
3)72 A 24 V 8 <48 A 16V 32
416 V 8 V 72 >80 A 8 A 48

, ' 14
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G MAT( K-1 0)
(Questlon 42)

42. The minute hand of a clock In‘.ct,h:ev
~ horizontal plane is on the number 6
- of the clock and is pomtmg towards

west

If the hour hand is pointing

towards southeast what tlme will the

clock show exactly after three hoursw |

- from now ?
1) 1.30 hour
2) 4.30 hour
) 7.3;(),h'ou‘r T
- 4) 1030 hour = - -

(Questions : 43 44)
Directions :
choose which set of signs from the given

_alternatives to be substituted sequentially in

places of (*). -

43.15 % 3 * 5 * 16 * 41

'4'413* 4% 5 %12 % 6
1)>+
2) X +
3 X +
4 X +

To get the correct equa’uon ,

v

(=2

(ZBR :
e

| Hllmlllll!llllllil!ll!llllIIlIIIHIiIIHIIIH_III|l||;" |
: 42) P

42 o7 «mzow@daas uods ﬂ@omdd
‘ a&)awd sfmeéa Q-DCSCS@ES oa% 63 edy
oo "‘éd: TR, .uaz&:béc% nosdodh s:bae;a
- ‘esﬁ v aeﬁ adé ﬁ&aomdg smaocs
*aomﬁ sd:.rad: noticd ®o3T T,
~a$:o$:a$ab BRWHIR  ? '

1) 1.30 ﬁo@%

2) 4.30 1o&d -

3) 7.30no&d -

1030008

43-44)
. o033 N&)oesdsam’m :

TBCDHED BRLITT CIPT WBOH- mam |
(> )mﬁmf@ B owon efdeé aﬁe&j ‘
DOUVTRY, TORFOPNPOT SOR. . -

13
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(Questions : 50 -51) (@ 50-51)

Dlrectlons There are 120 students |n a »Jaaéa%m‘b ' &:OCSD B’dn@od)d’) 120
class.’ Among them, _ o &m@?ﬁ@mé @dd@

a. 20 students play both hockey and a.
kabaddi, as well the same number of
students play only football.

b. 25 students play both hookey and
football. B : b

c. 15 students play both football and
kabaddi. - : c.

d. The. number of students' who _.pley only
hockey are the same as the number of  d. o
students who do not play any of the three
games. -

e. The number of students who play only e.
hockey is half of the number of students -
who play football only.

50. How many students play only ~-50.

kabaddi ?

—_
-
o

N
£ 0ODN
o O O

ELer=

~ 51. How many students do not play any 51
~ of the three games ?

1) 5
2) 10
3) 15
4) 20

16

20 é’bwa@r—*n’% Hod dae‘o sm;

OB eﬁé&ﬁ@é'&b wabead mma @de
Noaﬁodo &)m@en% @Wasaef ::’mé
wcéoew

. 25 sacsa@s'rte:o aaa% 553& wwmeﬁf.

DTBR e:scé:@ad | A
15 &m@s—*ﬁ% @wwa@f ajaez sm

- OBP eﬁc%aeaﬁ

TosODR, P SWHIT Fos3ody
R SN B oIRPYEI, SEHE
[WRHT KOLBN FFTONHIB.
TOFODTY, ms ST IO
NOQSQm LTRSS =g eecéaaﬁatd
~O§303) O dcéd)'_éid '

aaﬁg ST @s'neéo %w@oﬁ:&b ms
esc:%:sad ?

) sacs%@rn% TRte sune 33&*

CIRRTRR, YHPOY ? -

/

HIIIHIIIIIH|Ill||lll|||l_l|lllll|l|Il!lll!lllllllﬂ_l!E |

e s bttt o e b s i = it L

= e e T T i et ol e

e e e
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 (Questions:48-49) . (Bnes : 48-49) _
* Directions : The following Venn diagrams Nmaéﬁﬁ@o 81 3$NS &3&‘ 28 ji%‘b awa

represent the relation among four given = @WRORYNTOE NO?,JOCSE»‘JSD mrazﬁxbéa" 3
objects. Indicate the appropriate Venn 83 ~0&>0Z;3ﬁ?\b NJDZSNDES NOOSECS 3359 |
diagram to represent the relationship. 2535353 ﬁad&% : -

‘48.' “duadllila.tefals, Rhombus, - 48. ws:ws‘zaﬁeéa wmééﬂeéo, :
Parallelograms, Squares ~mm°35 %533&339'?3“@3, Pane
1) A
2) B
3)
#D .
- }
49. Grandh'lothe_r's, Sisters, Mothers, - 49, 33303,53 imcdaosj& sao:bo@d:,‘
Sisters-in-law = A @373—@&&&:6: |
1) D |
2) C
3) B
4). A
s
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(Questlons 54 - 55) , }
Directions : Find the set of flgures WhICh
have similar charactenstlcs choosmg from
~ the given a|ternatlves ‘

54.

A B C
1) AandC o
2) BandE -
3) DandA -
4) FandD

kN

1) A'and D

2) CandE
-.3). DandF

4) BandF

{(Questions : 56 - 58) .
Directions : Identlfy the wrong number/

- group of Ieﬂers in the series .

(IBR<h ¢ 54-55)

,o.rawa%m%o 8 R 3@&3605 2 je;@
mewaoa’§ ms@e)%saﬁ%e; 23 neaady,
wOSTOFOdDK%?Od e.-sb~ %ocabao@omb

E

T ) ARRC

2) B R E
3) D BDBRA
4 F @30

o E  F
1) Ad®D
2) CRBDE
3) DBHF
4) B3 F

(wémb 56 — 58) . ’
wz&ﬁn% é@&sdaas ziesémﬂef) 3 CS
Noa% / @scme; ﬁ)OwE’D %océaoo@omb

56. . 5,35, 220, 1050, 4200

1) 35
2) 220

3) 1050

. 4) 4200

18

ANV ||II|IIII|II| |




GMAT(K-10)
(Questions : 52 - 53)

loglcally foIlow from the statements.

. 52 Statements

E— - ]

a All buses are ShlpS

' b AH sh|ps are aeroplanes.

}» S ‘Conclustons

Some aeroplanes are sh:ps

1. All buses are aeroplanes.

i | 1) Only conclusion | follows
) Only conclusnon Il follows

Statements

- - 53.
. All sparrows are crows

b. Some plgeonsare sparrows.

\ ; Conclusfions :

DRI VS =

o | Some crows are plgeons

S

I AII plgeons are sparrows

1) Only conclusuon | follows

2) Only conclusion 1l follows

"

- — INOW S ’

N
ey

' 3) Both conclusmns land I follow

4) Nelther conclusnon I nor li follows

@s R
~ Directions : Take the given statements as
; true and decide whnch of. the conclusnons :

lllll”l|||V|||||l||‘l|||l:|||'|'| Il I||||||||||;'|]j|ﬂlf,"
52 — 53) ; :

|
]
’
. B9 SRUtT Beodnw Na’[i

mwﬁﬁ%

‘, QO ZSOS)N, 03503 805@9'05359)’ @%F’émﬁg! ;.

3) Both conclusions |and Il follow

- 4) Neither conclusion [ nor Il follows

17

~ j"‘smsmmscs 205> zaq:ss-—m

52 swgm&:
R B~ wmﬁsira ﬁcémrt%i)
Lwa scsmnem samsre:a

asaaoiaﬁs'b
e %@a@ NTPIND oocsrbﬁsio
il w!'»)GDD wnomua &aﬁaa)‘rtso

1) sea:’»e; aeas'w I @mwm@kﬁ :
2) f%eaSeJ Dearod I @?\bfot)nnétﬂ |

| )zasarome;a masa Il 20
X 6,@3&3 - -

);bsaroﬁo | o Il odsaas)draf}
?da 6/\05@@@ ‘

. a’e@ém%a
a|m:ra oEReR @ﬁmb _
b: 30@ "'a@msﬂrist mag)agﬁ%.

asss'oszrte:a
l. ‘%@Q RN mame;rteéo
Il. i@em m@m%ﬁﬁfm mwaﬁm‘o
)t%esﬁv &msoﬁo | @aﬁaaaﬁasd
©12)| 8eRBO QeoFOD ] DRORIT

3) DEBEOINLD 132 I @dcm
‘Qﬁ?ﬁmbméﬁ

4)|DdeeF o | ogmo |l od:od)ma
smm@a@ :



< GMAT(K-10) R MO O
(Questions : 64-67) (DB 6a—6T) R
- Directions : Find the missing part of the  Xeudnsh : F¥ OO BT SN Q
~ given figure from the alternatives. 23&3%&’ weNToIw BITWw Ea‘ar‘x’ab’ab’; N
‘ : ' : TWOLRF ODNRPOTS FOWERROWD.

ATA 2 3 4

. . Y A
S MU IPUE | RUE PP L

S T B i e e e bt en it B

B T M B,

et L ity

e iy 0

P S SR S SO



R

 owatk1o) o |
) 57. - 256 343 64 49 16 7 2 1
‘1.3)52 : | '

| 4.1 } weETTT L

8. YWTPZ VTQMW. SQNJT : PNLIQ - MKHDN -
B e HPNLIG 1 CEET

©2)SQNJT . |
- 3). VT'Q MW : J L
o (Questlon 59) - R (a-;é 59) IR

59. The difference between two numbers 59, adcé: Ros3ne 533@5:’» 6 6333: @Qﬁ@a’

. ,|s 6 and the average of thelr squares g ’dﬁs‘ﬁ%‘l perhiie) 234 o-oamdd & ad@:
Is 234, What is the average of the two ..:093?716& :s::axe e.bwgs "*l .

‘ ‘“numbers ?. .. S “

1 )»-. 13 l2)15

| . 316 4 18

"(Questlons 60 — 63) (T3 1 60-63)
Directions : Find the mussmg numberlnthe TRWIND [ T, O’oa BT, %h%ﬂ’@ o

' glven matnces S wmﬁ@eﬁ&as Noﬁodasﬂb z%ocgaao@oaaaa”

60.10 12 29 S 61 128176 14
__22 8 27 . ‘132 | 58 18
3214 2 4 ‘1373[ ? 23 |

s ans
e e e e b e T g T e T e o
Pcnamee st 3 S T g vt - Piioa R TR By T

62.87 4219 - 639 ‘s 39
- 93 63 13 -wa " o - 12 13 ?
37 3 2

o]
U'l
s
s
R
©

ns 262

1) 13 ' 2) 14 -
- 3) 63 4 69

315 . 4) 16

19



GMAT(K-10)

1) 208
3) 164

(Questions : 73-74)

. Directions : In the questions below, a
problem figure is given. The problem figure
is hidden in one of the figures given as
“alternatives. Find the figure in which the
problem figure is hid‘p.l‘en. "

73.

2178
4144
Aedddnis : B doh Aoy wneg
20T TPORITR, 8RN, B3 TTWSY)
30L300%3 WOIRF 0D 23FRY Hs eyrdsee
2,000 RN, 03z BIEoD 2333Y

BT BTN DOLOTTY, FOEEEOWO.

22

nmuummmlmmmnunuul_m'mm_.l_m||||;



';’V(Questlons 169 -72)

“ _,";GMAT(K-1 0
- (Questlon 68)

68 In this problem, : R
i. A < B means A i is. daughter of B

il A>BmeansA|ssonofB o

m A -B means Ais brother of B
|v A+ B means A is father of B .

Whlch of the followmg mdlcates “P |s

grandson of S”
‘ g 1) P Q<R+SV

o Directrons In the questlons below the -
-' -numbers in. the flgures are related:’ Identlfy

’.thelr relatronshlp and find- the mlssmg

"'n rthe glven senes o

( '6‘8)

3) P+Q=R >S - »
| o (-'5 R -

; l
'1
1

N Hi‘l!ill"iﬂllil‘nlm!umnln!’!!-lm.n‘uimlu,uir:ai.‘!

68 o ""aﬂa*‘ od:@ Cin
S A<Baoc$8Ao$w Bo:b w:m*a

R ii. A > B oR3 A ot Bod R -

i A = Bao:ssAos:aBos:-*mewd' :
_f“;iv. 'A+Be.uoz38Ao$>: B o zod
*semmmm SR “PoSa: ssf“;
‘"‘..mmﬂ"aowa mmsd 2.
"2) Pl>Q R<S
4) P<Q+R S

69 - -72) oo o
wzéa%ﬁeéa - 3 éem a@wma wéﬁe}@

esééri@é@daw Nogjmfa No&)oqiwaio
mocsa": *ée Nowoq‘)dai RHTER 23 J’i*’é@ RER
wmmeﬁdoad Noasénm socgaeo@oaaa




GMAT(K-10)
(Questions : 79 - 80)

Directlons Given below are two matnces’ :

contammg letters. The rows and the columns
are numbered 1'to'4 in Matrix | and5t0 8

in Matnx Il.. Each letter from these matrices - -

are represented first by its row number and.

i next by its column number
Ex : Letter “O” is represented as 14 23
31,42, S

|z|=|m|™

z|mlo|z|w
|z|g|m[of>

Matrix-1 - .
B0Z,8 -1

(RBped ¢ i
wzﬁéﬁ% B sem escmfm e;maocs’_;j_
DT WY INGR, -&@wcs mes S
39 joos 4 G ms% 1189 5aocs -
8~oe3ﬁ@oz:>’ @@rw we»nm DD,
@ooapmfm - ARBRAT: BT, 3030 wé" V

79-80)

eagddsacl mwoo T T NOQS m:«b

- 8038 @8 X0y NO@SOE)OOCS Nmewcs

VT - @56 “0” @a'b ooert fomsfocﬁ

14, 23, 31 42

79 Which set of numbers wiII represent

] theword RATION ?

ot Rosiie ity RATION@O&J N

- TERH ~.raza~a353 ?

1) 77, 55, 88, 78, 42, s

' 2) 85, 87, 56, 57, 24, 44
. 3) 66, 76, 75, 65, 14, 21
4) 58, 68, 67, 22, 31, 13

24

R (AT}

|>{m]|

iy

o|~N|olo

- Matrix -1l .
g»me -1

80 Whlch set of numbers will represent

theword INMATE ? o

'wdeﬁ?\)ﬂ N@&%fobécs? . -
1) 65 44 11 87, 77, 241‘,‘_[_’
. 2) 78, 13, 34, 55, 67, 23
| 3) 57, 21, 43, 66, 88, 12
| )86 32, 22, 68, 56, 41

oirod oeiérteé ne@@ INMATanu

|
'
i

IIIIIIIIIIIIII|I||I|I||I|||II||II|I||IIIIIIIII||I|HII| |

t

w i P S e

LT s e T UL 1

] - ) - R O TE ST RO (e WU ST RCE - VORI (UL UL I - SR X TR JOROU Y SO
e e e e S R e e " _

o T

R AR T

et

BYINPPRLS
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GMAT(K-1 0) |
(Questlons 75 76)

||II|||I|I|I|I|I|I||I||I|||II||I||I||II|I|I|II|II|||II|
(B 75-78)

Directions : Inthefollowmg questlons aset wzsa%m*o 8 3R BLESTOEI wéﬁ@@
of numbers is given. From the alternatives,  2,0%0 NO&TQ m@msm é\m@,&%p’

glven set

75. 81, 144, 225

1) 169, 484,
' 2) 625, 676,
3) 729, 784,
4) 441, 784,

(Q}uestion‘- 77

529

841
961

841

, choose the set which is similar to the - ""OSJas-‘odoﬂ%?od '&rawdow *moseé& .

&Deoaw NO@JD N&"DJDE&K’)D B0, <

76 315 210, “3‘5
1) 261 87, 29

2) 288, 192, 32

3) 225, 75, 25

4) 207, 68, 23
(wﬁ 77)

77. In a leap year the new year day 77. &)om O3 5@&5-‘63@ &@N SRET

- celebration is on a wednesday. What
day will be the teachers’ day in

DB mcsmdmcsd ©e

‘the same year" (as per Engllsh BRE 3555 55@3359@053533 O35e

_calendar)
1) Sunday v
2), Wednesday

3) Friday

~ 4) ‘Saturday - .-

(Question :78)

o= | esasmmm@c:o 9 (caor\m o
S0BT [ET) |
1) ONTT

2) mdmd

3) 535@6

4) emmd

(w§ 78)

78. In a code Ianguage, if HATcanbe 78 2,00 OEES3 mmojaef) HAT@KD

codedasJAR and WE as IS, inthe © JAR&OT OB, WEOWD lS@OCﬁv ’

- same code, J U G can be written as :

203833, @de No%eécsef) J UG
@53 aoeﬁ wdodaaasa)m

1) DON

2) MET
3) LAP
4) PEG

23‘



GMAT(K-10)
(Guestien 83)
83 Dlrectlon Two posmons of the dlce are
o shown betow When face with 3 dots

s shown at the top, which face willbe -

at the bottom?

| IIIIIIIIIIII!IllllllllllIIIIIIIIIIIIIIIIIHIIlHIIHIII
(%3, : 83)°
83 mwﬁ auoz:fo cm%cs @dcéa mgeﬁﬁem
-t éﬁm 32083, 3 zioéri%feeé
,:meaaé) a’oemﬁcﬁ@ °ac§)6 odaad
| ai:o@@ 3%;371{3@ fadoed 92

® @ o @ e '
e o 'vo-.o 1ol ¢
) 3) 4

(Questlons 84— 85)
Dtrectlons Answer the followmg questlons
'based on the sequence of numbers / !etters
glven ‘ o S

84. 41 91 972361 68224281 774

~ If the product of any two consecutive

- numbers is the very next number, how

" many times such numbers occur. |n
the given sequence ?

1) 8
29
o312

4) 13

g;as b : 84—85) -
_mwﬁﬂ% B f9n dowchs TEnen

- %oss N/ @5671%3 Ndséo:b e:?qsadw a:'be@ ,

mﬁ@~

28181112236199 »
cimEe e wRE Zosid rrvnR
RYnY BYrm 2wodR RoseIRT, B
. de3os aa.‘p Ros e %.e&édaaﬁ xoedod
wegd? |

26
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GMAT(K-10) = . lllillllllllllllllllllllllllllllIIIII‘IIIIllllfllfiI”'z
(Question : 81) | (Z3, : 81) e
- 81. Direction : When the given figure |s  81. 224 - BrobiCRS 28 = W&D%éoimﬁ

folded as a cube, which one of the
formation of cubes shown below is NOT SRR %e;ﬁ &ae@~daa’> 033353

| POSSIBLE’? ) | I @5@ da&émﬁ:@cﬁa WQS&Q} ‘?

I

z%

oy
(Questlon 82) ' (T3, : 82) | '

82. Directions : The different faces of a B3Ry &Jom CSYI &&) ‘
cube are shown through three folded 82 DRUE ) P @

cubes. Among the alternatives, identify - » m&)ﬁ%ﬁa’n ous s a:b@z%daai
which one of the figures representthe . qﬁa%m? d)&mﬁ BRCORT. ﬁrawd::ai'
unfolded cube. o woiyorofnmf@ DRID TR 2353’5&) '

- O3RRHTD nwas@gd DO TOHSR.

1) Alc|B 2) Elc]a e
E[D]F | B[D[F

3) AlB]cC 4) A|D|F
FIEID E|B|C

25



GMAT(K-1 0)

- 88. Which one of the followmg statemems

rs true:? .

| "1) The number 12 is not ms:de all the ‘

" three shapes |, lland IV

| ) The number 3is . msrcle all the three

shapes I, Il and Il -

,3) The number 13'is lnsude all the
" three shapes I, I and \

4) The number 4 is inside all the three -

shapes I, IVand V

' V(Question 1 89)

89. How many blocks are unseen in the,_-
glvenﬂgure? SRR

7

| (Questron 90)

90. To calculate the average ramfall in

the second week of August 201 8
in Bangalore, the following data is =
glven ‘Decide whether the data given

is sufficient.

ik The average rainfall of first four.

' days of the week i is 147 mm.

| II The average ramfall of last three
- days of the week is 133 mm.

1) Datai m I only is sufﬂment

2) Datain ll only is sufﬂc:ent
| 3) Datai ini and Il together are sutﬂcnent
4) Data in | and Il are not sufficient

28

| lllllllllllllllll LA ||l Il Illlllllllllllllll’ “
_’ 88. é—’: éema aeeeﬁee oSsass)aﬁa N

’ fo@mﬁﬁ 7

o 1)&@6@ efﬁértéﬂo lnmaa lVd

WA ~033 12 |

) R~ mmm efﬁérte; wézt

~093 3‘&63
. 3) 1, IlESDZe’D v &‘b@d@ Q'B’ﬁ é?’l%ﬁ wéﬁ
NO§3 13“"53
4) I, |V55333 V &3000 Q‘Sﬁ@ﬁ%ﬁ 291
n)O@f 4%{(3 :
3, :'89) °

89. SLyEss uIRY wrote BT maﬁe}

»30&'3 oS:z:So %oﬁooo@oma

1) 9
28
37
' 4) 10

o ( 23 90) | S
90 doﬁ@@aee e.sztrz 2018 d adc’aée |

RERY WOE E0d oKD TRPLOH

T RO APEDA.

l TR RRTY me:a @ﬁh’@é Ua;"ﬁa |

e aﬁaﬂsaea 147;3:&33& Q.

Il. =00 &eﬁo&: Shedh ORNY Poexd
DY TeSoeed 133 Ww.awe. BT,
1) mea VLS B[P TOTMHITI
2) lldeba R0&S a’me’ *aaamecs
- 3) | 3 B 2083, a*b'aaoa
*eaeﬁ)e’c?
4) 1308 nd@ﬁ mao maoe

*aaarb@@gg

gombbRobes $UNT SRiIchT,
- RNEBWORNT. B3 aS;aaoéoSaa *aaart:;;)de
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GMAT(K-10)

85 zebcyeenercbeucgemcaneyxcdebvcep

~ Inthe glven letter sequence, if all the
“e”s from letter z to g are changed to

. “c” and all the “c”s from letter g to p

are changed to “e”, how many “c

. and “e”s will occur respectwely in the

~ _sequence ?

1) 5,6
' 2) 6,6
-38) 6,7
‘_.,4) 7,7
(3B : 86— 88)

(Questuons 86 - 88) !
Directions : The foIIowmg questlons are
based on the given intersecting figures.

BRLIHT BT xcedohd 2905 gaﬁéﬁ tadsa%
R “e” ﬁe}s: “c” ﬁ wRdTRR Y g

,faocs p =38 fad:ss DR “e” Ny, “g” A

WRORTR 2St30hO gaimaﬁ o “c” >3
o ith Wb ?

s ; 85 B9NE I mscaa
BORT SIIRIR, smous.

86 How many numbers are enclosed in
only two flgures ?

Qﬁ% ,-40&'37?@’3 Qdc& &353?{%‘3@ TR
(adb"éw ? :

1)5
‘2) 4
3)3
4 2

27

87. Whlch of all the three shapes have
“14” inside ?

© 3R =hete es%aﬂeéwa “1g7 w;ms
fad::«sd ? '

LIV

2) I, IV, V|
3 LI,V

4) 111, 1V, V
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GMAT(K-10)
(Questlons 91 - 93)

D:rectuons The words’ are given under
Column-— 1.

“Their codes are given ‘under

Column — Il without foHowmg the same order

as in Column - |

.(Questlons 94 95)
- Directions. :

In the followmg quest:ons a
set of two figures is given as problem figure.
Find which one of the following alternative

Find the codes - for the
. letters of words in Column—land find the -
- codes for the glven words in the questuons

_Column -1
™o~
.. SUN
- . CAP
. NAME -
"GOLD
STAR
| ROAD
91. MASTER e
1) aklbxd  2) kmsixn
3) bxldcf 4) aklixn
92SOLUTE TR
1) mcxban u2)"‘lAcflb‘ix
3)snb|ma "'1'4)“l,c}fbax' o

7’(@:{@:
wzﬁéﬁ% ée TN acfcéa BI NG

figures would be formed, if the first figure is .

superimposed on the second figure. =

— maéa’»ﬂ%

R I IlllllllIIIIIIIllIIIlIIIII:,

(I3 91-93) .
RISt le 2R ""cimfwo
BT, B3 dm? RoFeIRI, Noaﬁ - II

o] %eéﬁ %&)@323 é% NO%G@W@O NO?S -1

kol mm#@s eﬁsdnepﬁ eﬂaﬂaéa’nmﬁ@

,ooz;—ldédow zsmf gonen No%eéam

'socebao@cia wé’ﬁ%‘@ éfawdm zsm:)rﬁ

RoBeB[RY, rbdoéro
‘ Cdumn—H
-gm#-u 
. yb[v
kdm
axyk
fpsc‘
klni
. /sknc“
93000UMENT
1)scmbaxy|2)scmbanye

. - 8) kambxyef 4) fcnbaxyi

mrga

. zs?@éodoaﬁa T, ﬁémﬁ '&:@@355’ s
233N$Y. aﬁmdoaﬁo:b asa’dab @dcézﬁojo
333 #ed FEIn %fawdaw wOﬂT«JFOﬁDﬁ%“@ o
dzsxgmw ,asg‘wab;, 30BERACWO.

o o

P ew@mepen
= D@D

‘ T




| GMATK-10)

- g5,

_ (Questions : 96 — 98)

Directions : The following. questions are

based on the numbers and letters arranged
inthe pyramid pattern. Study the pattern and
‘complete the given analogy. =~

A

) — |

(B> - 96-98) - o
RRWINY : 85 YN TJNII, VTWTE
DMATY HEReBITT FOANIR, H)
VITNER, UPORB. 83 BREHODR),
N&oRA FRTOF TomIBNITY,

| TPRENRPVA. ‘ FER

w |

al

7181

—
olo

15

P

Q

R

wlo|z|v]

—

—

——
<5 o [o |—.

—

w

—

=

116

17

18

19

20

21

22

23

24| 25] 26

27

28

A

B

C

D

E.

G

H

LD b et e

. ' . . -
S bt e e 2

S
il S—

)

ER17.:

)Ly 27
3) K X 27

. F 'S‘Z11 :

1 96.-- . Tc8 :Veis L cmen
J W26 - \

N g

7. CP8:Ra3
PRAAISIE R e

HUd6

98 28D :614L :: 2?2 :513K -

| S U y3 11l 23 9E -

3)310F 4)311G,

30

AN Y AN

1)U W15
B UW 5

. } SO e e ey S, .
[ U UV S A .
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R St tenases matn et e SR RAUUCARE TN PR T A
b . < B .
P . . PR . T

T st g o e e T e e T e o T R T T e

T T T T T T T e T Y

| (Question 99)

99 In order to form the gwen ellipse, which
“four appropriate parts outof A, B C D E
and F are to be combmed" :

v’ 1 (Question 100)

:, 100. In order to form the glven hexagon
whlch three appropriate parts out of

A, B C, D and E are to be combmed ?

| 'unumlmlmlmuli||||nljulnnmunmnnn
( oB,:99) | SR
‘99. s:z@em aeedawA B c D, Esﬂasa F

| 19O olwa LR, FRRRYRY, aé‘.;ac@,omﬂ: .

‘ &m%&: aca-;m s@ wommsd ?

5

)
4) A

D,
E

L

(wé w00
100.. & g &c@d:sﬂ A,B,C, Dd:'e’: EnsQ -

i sheth ennem, datdEmR
o mgma aicéozsas)omrbscs ?




8. PO é wé%ﬁ%ﬁ@ OSDOQ)CSG ~ab~mfo emcsaz)d

[warcg T

@2,3 @Fﬁ@ﬁ BRWRN

1. 28 homFuos, (OMR) evgd Bef we 100 Z4Mecss 8, ascves, oebn poond. |
2. aop TR FE0k. B8 TIX Lo 080T,

- 3. aﬁbem @5@033@,

© 3G TY, oma mﬂmséomozs mo

¢ L.axr.s0. (OMR): @%u@ adé =3, :SOQSr'\’ *’b a&@owm em:a‘da-sa mdas e BN oY,

:asﬂ@ wd% :seodaad emédzs usasm 2’0@@3/&% TDOVOD LIVEF wuobaoé:f B> =2, emwoiraem

L _,rbcbsa SRA. Zedb eméddm 3ew® SRAT daeei LTSRN @5@3&)@ abéa o3sosg)cse @563
"mcb&mz& &aw SO, (OMR) wsd wa%o:b e TRBIRTD. -

* oo : 20 e wa"ﬁ 50 em:a’d@ gody oai’ 3 em'cs@ mw - (OMR) 59 33 3 &,
Ebe@/fe@ asacf TDOWO® S evmoieens BRI, Jew® JRBDIYT. 84 3ot émemdoé

TOTREIF =oN B0, -

 2‘0; o @ ‘ @ (3 enﬁc&oéds-'a’ fmé) -

| 4 wom ZIAR wédasah aoodﬁoé ), 3371@;50 &o&d@ @osa YITRYI, 3».)063 wamé,o 1

SELOUO Y eBeD udoazs)@@

-~ |s. b 5. (OMR) %\uw@ A3 FYaY @5@? Tone deUe HedmoId SuEe B |

, mmﬁm

6. Toesy @5@ aﬁwﬂw aio*fd @msmd &@aﬂf@c‘ (OMR) e@ésaﬁm ﬁmd@ a’ne@mdéaﬁ D

WA 3§m

[~}

i 7. wbeﬁ &mé@o&m@ﬁ memieucf a’irazséee dradasaséotozdaa, amﬂ@de @6@83‘ emwideane;d)

: scb@m’ab E’Oc»le(.‘;)fqd

d@moédﬁe Ik
@oédzdoda 3@90&323@63 | | -

*Note : English version of the instrutions is printed on thefront cover of this booklet.
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é%—lI/PAPER-II o - Zone- 10/CLASS 10

o1zl
oN IS 12pjoog uolissnd

waép)onﬁ ""53 S waeé / SCHOLASTIC APTITUDE TEST

REGISTER NO : 2 a1 |18 @ ol 3 .1’ 13

17

Rabod : 120 DRoRAD . woD®/eRE 0 rog eodned 100
TIME : 120 MINUTES - - - ENGLlSH/ KANNADA S ‘MAX. MARKS : 100
Instructions to Candldates - o

s

1. The Questlon Bookiet containing 100 questnons and the OMR. answer sheet is. given to you

2. All questlons are compu!sory, each questlon carry.one mark.

'{I,-

- 3. Dunng the examlna’uon, =

. Read the questions carefully. -

~» Completely darken/shade the relevant o{}’aln'again'st Question No. in the OMR answer sheet, using |
blue/black ball point pen. Do n‘ot’try to alter the entry and not do any stray marks on OMR Sheet.

.} ¢ Ex:In a question papet-if No. 3 is corréct answer for Questlon No. 20, then: darken in OMR answer Ao

sheet shade circle 3 using- blue/black ball pomt pen as follows

2. D @ @ @ (Thisisan example only)

4. If more than one oval is darkened for a glven questlon such answer is treated as. wrong and no marks
;W|I| be given. o e

5. The candtdate and Room Supemsor should S|gn in the OMR. sheet

- 6. Candldate should return the OMR answer sheet only to the room supervnsor before |eavung the examination
hall. s

7. The calculator moblles and any other electromc equupments are not aIIowed msnde the exammatton '
hall. - : A

‘8. »English version of the questlon paper will be cons:dered as final, in case of any dlspute anslng out of
‘vanatuon in translation version.

'n’wm .-::if_azsﬁrfgf BB TS0 ' PYAFOD S0gRnce SOOIOLD.
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SAT(K 10)

PHYSICS

1. The current in the circuit shown below is

. Tf,‘—{
) '\f@rf‘Q
20 | ’5‘2

s

4 i e
A 2) 05A
' ' )066A

2. A Heatlng unit of an electrlc stove is rated

. at 880 W. It is connected toa power supply

of 220 V the current |t erI consume

L .I 1) 2A 2) 6A
FE_3)4A R
i ‘» o 3 A wire of resistance 12° ohm is bent in
. ..&°  .the form of a circular ring. The effective
. .. -resistance between the two pomts on any
) .~ diameter of the circleis . . . S
' 1) 240 2 2) 120
- ‘ 3) 60 4) 3a '
an ) 4. A person needs a lens of poWer’- 4.5D for' :
12 Co correction of hislher vnsion then the foca!‘
o a Iength of corrective |ens is
S d.p Do+asm 2 -oz22m
3 szam )—045m
. '5. Sheela cannot read newspaper when she
2t holds it.closer than 100 cm. The defect in
S
g (b her-eye and the power of lens prescribed to
ol¢]
96 ‘her [Normal eye near pomt =25cm] .

- 1) Myopiawith + 3D lens -
© 2) Myopiawith-3Dlens
'3) Hypermetropia with — 3D lens
4) Hypcrmetropia with + SD lens’

. ot *‘“5535 ﬁbé'wbwéé a)dasse : V[*; L

3 w22m -
. &¢we 100 cm No3- 3:3{:30:5 msamésobm

QT L llIIHII\IIII

@3%& :

v
1) 1.5A 2) 05A
©3) 25A_, ) 066A

). 880 W BORT, BEORTHI nom. ;)das*‘

'z.:cBoi:a%a‘_Jz 220V a:csas" v,g;ao"é%ﬁ xow-&mmﬁ
LT LEDT azﬂ:@‘ o

1).2A
3) 4A

)GA
4) 8A

3. 12535 (ohm) SREFIHS 2ot 303030&’»391
o d maadd wﬁoisaﬁ ,.oéd =23 u;@aﬁad Zodod
' oS:amde

i) adds e.-aos zbots’om*@
TOmRIhEd d%faczs ' :
1) 240 2) 120
3) 6Q 4) 3Q

. WY %_pos:a 3 waém@asm nswmmm ,

- 450 maﬁawr (VRTE)QTS aﬁoxf.radcs. |

B ‘wn’zésaz? mEe Tabeed ZoRATL |
WPHT FERCT Tonwxd BAY '

1)+45m '.,2)—02’2’m’

045m

b.men mqﬂ.&w TomRd eRY 3R cg)wdfaeadw

- Rt THE) WReR RRURT THRATT * *a:»z;i?“ Lo
(JSeP) [69553 '?dmsﬁ %édd 2ot =25¢cm] -
1) movem dagﬁ.@m 55333 wfmdcs Nua’nqis-—

- ¥3D

+ 2) %00es Hariee WY WHAAID PR

—-3D .

- 3) Cirad mémm msa mmdd RORGE

4) z:irad de&draew 533:) a‘bmdw asmr
. +3D ,
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SAT(K-1 0)

6. A metalhc rod falls under gravity W|th its |

ends pointing east_and west, then-

'1) noemf indﬁceﬁiat all -

2) an e. mf mduced initasit cuts the magnetlc «

" lines of force

- 3) ’two e.m.f.sof equal but opposite signs are

induced giving no net e.mf.

4) its acceleration is equal to'the product of g

and the “radius of the fing. .

7. A bar magnet is-used to’ plck up an iron; ‘

‘-nail S

« Bar M'agnét'i P<0 Iron nail - -

Q R

,-‘the magnet to plck up the !I’Oﬂ na:l ?
1) 'AtP "
) At Q
3) At R

4) It makes no dlfference at any part

8. An athlete completes one round of a
~ circular track of radius R in 40 seconds.
" The dxsplacement at the end of 2 minutes - |-

=g ".20$econdswm be -
5" 1) Zero. 2) 2R
_3)_-:7{3 S ~4) 7nR
| “9. The amount of material that releases 4.5x10J
=2 : e S AT g
- - of energy whenf_;it is completely converted
~into energy during a nuclear reaction [Given
: 'speed of hght 3 x 10° m/s].
1) 05g -~ <2 5g '
3) 509 4) 5009 -
— 24 -
LS x 18,58
£ FeR T
..é < k %—‘ l - ;_}_,+_‘L m = -3y

|I|I||||lI|I|I|I|I|IIlII NIIIIIIIlH llllllllllll\lllll

o ,--«,__-.,/«.M" e
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Fe0Z WDE asw% w@a@ w,ecmmmcs
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SAT(K 10)

10. For a nuclear reactor 48 KJ of energy is

produced per mlnute If the energy released -

. per flSSIOI‘I is 3. 2><10‘11 J then the number of:

flssmns wh|ch would be taklng place ina

., reactor per second i is o
Cysxioe
2) 2x10% _'_ R
g Baxtoe -
4 28x10° "

11. Select the correct statement

1) A lens with + 2D power and 0 5m foca|'
|ength is convex lens -

2)"A lens with + 2D power and +0.5m focal

. } length is convex Iens ) .
. 3) A lens with — 2D power and + O 5m focal
- lengthi is concave lens. '

~length is concave lens.

12, -Th,e m'agnification of image formed at a
~distance of 4 cm by a needle when it is
 placed at a distance of X cm'a’Way froma

-convex mirror of focal Iength 12 cm
1) - O 66 '
’2) +0.66
- 3)-“—- 1.5
Coa) o+ 15

© 13. The speed of sound in air at NTPis 332 m/s. If_
. alrpressure,becomes four times the normal

~then the speed of sound waves will
b 1) double )
) quadruple

- 3): ‘remain the same

4) ‘become 2 of the original value

L 4) A lens with + 2D power and 0 5m focalv

|||II|II|I|I|| [l ||I||I|||II||I||I||I||I||III| I

10. ?,aocb MBOSDU‘ %oﬂsaaaoo:b@ D X3 aa:w§ 48KJ |

33 zbcéoridoda‘erb'e’d DY wOW AR éoﬁaﬂ

3.2x10™" J 33 DRBRBERTS, uoc:b *Sow@ﬁ -

SURTODY HHMIHT RUINY Ko,
_ 1) 5><10“‘
e 2) 210
o E 52x10‘3
) 25x10‘3

003?@1:3 ée@%oﬁ:ab €:903> me

‘j' 1) + 2D RGF (TFT) woa: 05m~or{:n

| BABIDHE RS & mmd
‘) +2D wmdr (FF) SN +05m Rorizh.
‘ cindébdoai mmd e m,md
g - 2D REF (@50%) 3y +0.5m AN
BRCOHE WHRET B, awad
4) +2D"p:>ocsa( mf) m& 05m~on:>a
z:i:adadaw aﬁomed zom a‘bm’ad

g _12 5on:o wag 12 cm ;)cbas NCSS mmooow

: Xcm mawo z.»ot.:b mz:’so&:m ab.:umt
4 cm d.rad:ﬁ@ wommw wdd asaaboud :
aiqu'a" (magmflcatlon) g

1) —066
2 +0.66
3)_—."1'.:5
4) +1.5

- 13, Ner oSoe’) m@oﬁoc‘bs dz.n:s dcrta:ﬁ 332 m/s.

wsaaeoa n'ae?oa’e &.awd) Tow)y, Wedy,
BTG, sucs derts;;
1) DoPeD @rdIF
2) DT, BT
3). CoyTWe WTUREE AY

‘ 1
4) Soo Bdad - O sy
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CHEMISTRY

14, An isoelectronic species are

. aNat= 5 . b AR = (0
c. Mg <o . d Ca*

«1 abandc A 2) a,candd
3) a,bandd 4) a,b,candd

15. Identify the correct order of elements
accordmg to their metallic character.

* 1) B>Al>Mg>K
2) AI>Mg>BsK
3) .M§>'Ai'>K>B
4) K>Mg>Al>B

E&QB

’ 1 6. ldentnfy the correct representatMé of reaction
' occurrmg durmg chloralkall process. ‘

) 2NaCl,, +:‘2HQQ“) > 2NaOH,, +
) ’C +H2(Q).‘ L '
'2) 2NaCl,, + 2H o(aq) 52 NaOH(aq) Clig +
H2(u) .
3) 2NaCl(aq) +2H o(,) - 2NaOH(aq) Clygy +
‘ Ha(g)
4) 2NaCl,, + 2H20(,) = 2NaOH,, + Cly +
Hag

~ 17. Identify the sets of quantum numbers which

are not possible ?
a n=0, |=_o, m, =0, m, =+%

. b.n=1,1=0m=0,m =1
.{,."‘A R ; _ ,-‘_ o ) 1
e n=11=1,m=0m = 2o

d. n=2,|=‘1,rﬁ|;-.d,‘ms,-_-._%>

1) aandb - .
3) aandd -

2) aandc
4) bandd

| lIII!IIHIII!IIIIIIIIIIIIIIIIIIIIIIIIIIIIHIIIHIIHIII
Oﬁbﬁ%»)

14, .8373@@@6%@69 (isoelectronic) groneh

a. Natv -~~~ ib. AP+
e Mg - d Ca¥
1) abmaye . 2) acmId
' 3) a,bvd d 4) a,b, eI d

15. Gnttoch reod, ORMIETN FBAY xaossad e

han, rodas,

1) B>Al>Mg>K
2) Al>Mg>B>K
3) Mg>Al>K>B
4) K>Mg>AlsB

16. 3007 -800" Byokod _593:@;3 @aa% 7

603303353) rbdaéw A |
+ 2HO .-9 2NaOH , +

.1 2NaCI(')
'Ciz(g) + H2(9) : ‘
_ 2) 2NaCl,, +2H o(aq, >2 NaOH(aq) + o|2b) .
Moo
3) 2NaCl,, + 2H,0, - 2NaOH(aq) Clyeg *
Ha(g)' ,
4) 2NaC!(aq> +. 2H Oﬂ) - 2NaOH(aq, lea(g)' +
Ha(u) '

17. *-az;fénocs’ aao&am*‘ (quantum) zfoafri*dsﬁ:

T3,

a. n=o,V|=0,m|=/0‘,ms= +y2
SR
b.n=11=0,m=0,m_ = -3

c.n= 1, 1= 1,<m", =0, ms=>f|'.%“

d n=21=1,m=0m= _'%

e

1) amRb . 2 ameye

3) a3 d . 4) b3y d

it s

]
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.21, Assertion (A) :

.Z"c<

ot .
RN
i
i
i‘

SAT(K-1 0) | |
~18. An example (s) for endothermlc process (es) |
‘s (are) .- . _ S
i a. Dilution of sulphuric acid "
! R

e o 'b. Sublimation of dry ice

c. Condensation of water vapours
Ul Evaporatlon of water .
) b only

) aande |
) conly. . 4) b andd
1 19.x - AlkailneKMn04‘+ Heat >V o
jy_' +X Esterification
o (acid)
“Identify X, Y and Z.

. 1) stnénqic acid, Ethar_;o'r‘a:nd Ethylethenoefe |
2) Ethan&, éthyietﬁahoate eﬁ.d‘.;!’Et.hahdi(‘; »éc'id .
3)>;~l;:__tﬁ’an6!, Eihaneie amdandEthylethanoate ji

' 4) Ethanoic acid, Ethyiéthenoeier and Ethanol a

20 _1ldenfity the solid acid at roem temp‘erature." '

" COOH

Ay oy ‘:2 'CH'C"OOH"" |
>);600H o )
3) ‘H,CO; 4) HCOOH -

methane gas liberates 18 g of water.

Reason (R) : In the combustion of methane, |

‘water |s one of the product.

Select the correct option from the given

.
4 alternatives.

- correct explanation of A - A
2) Alis true bt R is false
3) Alis false but R is true. -
4). Both A and R are false

Combustlon of 16°g of |

1) Both'A and R are true; but Ris not the i

A A

- 18. @os‘c’aajj (endothermlc) as’éofa(m?ﬁ)

wmwd&"(ﬂ%) o :
-a. BORDT Uy dms‘e}meémaé (dllution)
» _"b ) aoazaw (dry ice) evg3s -
€. ReoeRcs: mogesdsa
3 d Neds eaomms

S am@de - o 3

3 cmPY, . 4) bR d
e, x @amm;ss oy

"Y+X ’.aﬁfpcsdm ’

X vasasa Z ew, roehos.
1) acﬁsﬁmo&as’ a-ssia @@@@3‘ aﬂaéo

eac%@@cﬁ.@oiaew ‘
2) XTFO, észﬁé@%bwc'&faos:eﬁ ai:&
DPJ0eONT B ~
3) BT, STRBEONTE CONE
é@pmm@ew ‘ '
4) SFBeccns® s, éazﬁéomc;moﬁaeéaf
méo mﬁmef : »
. 20. i@cﬁ@oﬁ T de’) aﬁﬁ ,oéoS:eDdaaS ezﬁ:sﬁaﬂa
o mmla .
gy §OOH é) fca_acbc‘)Hf
> COOH -
'8) H,CO, 4) HCOOH -

21, Rt (A): 169 e ﬁﬁéﬁmc?:; 18'g

. Pegsy, R SRwIn. - -
) (R) QwEes’ o %oﬁ:oia@ R0 2,08
o emsa%
- B0R. megd:a ecsar:@ocs "’ﬁoisad Licienn
- DA,
1) A3y R a8@H 30, scsrﬁ Rfacib AR
- Nao:isacs @adz%o:b@ :
2) ARD ©T3 R3wm)
) ASg) B3 RO ,
- 4) AT Ra0ER 3F) -
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22 Assertion (A) Sodlum Chloride formed by .

the action of Chlorlne gas on sodium metal
is a stable compound

: Reason (R) :

acquire octet ‘configuration in sodlum
Chloride formatson

Select the correct optlon from the given

alternatwes

: 1)_ ‘A and'R are correct and R is the correct V

- - explanation of A

2) AandRare correct, but Ris notthe correct :

exp!anatlon of A:
3) AistruebutRi is false -
4) Both AandR are false

. 23. Choose the correct statements about the -

given chemical reaction.
3Fe ,+4H 0 ——) Fe 0

4(s)
a. Iron is getting ox1d|ssd;
b.. Water is getting reduced. _
.. Water is acting as reducing agent. )
‘d. Water is acting as oxidising agent.
M bandc » 2) candd
q3)abandd 4) bandc

. @ The half Ilfe of. a radlmsotope is4 hours If

+ 4H2(g)

the initial mass of the isotope was 200 g, the

- mass remaining after 24 hours undecayed
1) 1.042 ¢ 2) 31259
3)2084949 4)41579

,<7 25 Theelement‘)(’ha an electronic configuration -
‘Y” has an electronic |

2, 8, 3. Elemen
configuratlon 2, 8, 7. The chemical formula
- of the compound formed when they react is

4 1) lonie XY, '~ 2) CovalentX,Y -
'8) CovalentXY, .- 4) lonicX,Y -

- :26." ldentify the olfactory indicators.
1) Vanilla and turmeric
2) Vanilla and petunia.
# 8) Vanilla and clove
4) Vanilla and hydrangia

Sodnum and Chloride ions.

: 'ﬁgéé?l

- 8 (R):

23,

1) ab@dHc

24,

g

22, Rewd (A):
Seczdeodn [3ra Beckabo meﬁéwf Nd

I IIIHIIIIIIIIIIIIH IIIIIlIIIHIIHIIi

é.:acoaf WBAORY - #.rac@o:ao

Nocﬁ»% wommsd

CesReomy, ﬁfaozfosﬁ

&304, _
1) Ao R o0IPNT BB Radd AKX
- o03RE HVWOBOINS

2) A3 R BOOIAT, el R AT
R0030E mdmom '

' 3) AZOOIPND =B3 R3F)

4) A3 RICER 3
2RYDHT TomOHIT J0d0d.
Bewdnvy, GO

3Fe_ +4H O ——)FeO +4H,

(s) 27 "3~ 4(s) 2(g)

a. IR wgaﬂrmmggd

b, Redh wTERroRARIE,

c. AeTh WXFARFITN FSFXIT.

d. dedd w:ﬁzﬁssmn Berxo3s.

2) cAd -
3) a, by d 21) babdyc

L NS :ﬁa‘nm&)oﬁa wmsos:o-" 4 nowm:;.
"E:Sa"sa)o:}o mtﬁoa:)% o9d 200 g e.-ma’:?

.24 mm gozg am;smgs A c'aé

3) 2.084g
25

1) OoIRRFXY,
' 3) BBBeSY XY,

1) 1.042¢ 2) 3.125¢ .

4 4167g '
X c;ss‘;as ad%s@ assa,o 2, 8 3.7 :sasaazs

ae?sgas‘ amﬂ» 2,8,7. ée e BSramen.
mo&sar’bas Hockosw TomvchNE XAT

2) BEEeS XY

. 26. TR RBRUBRYRY, i"bdoé~

1) Sy I )@Oéz@

2) BdwR DB BLIRAOD
3) Saoy BB, oBoR
4) SV WD BEBORD

ZreRoho Mcédcsf e
BREBOI0 mso %.Md’w’ WOIRN® WFI

81 dosym wolteod Rootns evads,

Wi, RocInE -

4 sossawxvf“ |

o ; PR
i

A
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'SAT(K-10) il

BIOLOGY |

.Read the followmg statements and select
the correct option.

A : When the body size of animals is large,

~ thediffusion pressure alone cannot take care

of oxygen delivery to all parts of the body.
B:In human belngs haemoglobm pigments

... ‘take up oxygen from the air in the lungs

to carry it to tissues which are deﬂment in

oxygen.

1) Als true and B is false
'2) Ais false and B is true.

3) Both A and B are true-

- 4) Both AandB are false

28,

Assertion (A) : Plants can survive wnthout
separate resp:ratory organs

"Reason (R) Each plant part takes care of

. its own gas exchange needs.

Select the correct optuon from the given

... alternatives.

1) Aistrueand R is false

- 2) Aisfalseand Ris true

h , 3) ‘Béth AandRaretrueand R~

20

A Okyfocin;\ .
. B. Luteinizing,

' C. Vasopressin

- explains A ‘
4) Both A and R-are true but R doesnot
explam A R

Match Column - | with 00lumn - H and
identify the correct answer.

Column -1 Column - i

J1i. Regulation of diurnal
7~ rhythm of our body
£4il. Uterus contraction .
~ during child birth

hormone._

D. Melatonin.” “fiv. Body growth”

~+ _ \w. induces ovulation

1) A-ii, B-v, C~-i, D=i -

2) A-ii, B-ii, C=iv, D—-i

3 A-v, B-i, ' C—i; D=iv
B-iv, -C—i,  D—ii

4) A-v,

Reabsorption of water-

27.

llllllllllllllllll!!lllllllllIIII|IHII|I|||IIIIIIIIIII -
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35 IYNS %c%oﬂaaa 5&»@ aﬁ:e’; "cosms i
*e;soizos:;ab 302,

A: a:a;éﬁ@ BeR® ™3P zs’..easmhmn ;: fde} T

&;e‘d:ﬁpodc BeBW QY mm{@ﬁ iy |

; wadé,.nz BRI OB, aﬁr&amdm

B: DI &CE&GMQZL’)&‘ eg;:é.@csde‘m

', ‘m@obaod e&zza" "’z:%’csa e:s%zsa@ éfade"oa:cbd
@omoan@ﬁ %..eoz&rao:a: 3?3 )

28.

1) ARD 3y B3P

2) A3 e BRO
3) AR BaORR RO

4) AT BooRER 37

Zamoms (A) | s

"aﬁazsfﬁ (R) : cf T3 a;eﬁm 335‘
T aamoms wne‘ :-3033 e—sﬁéioﬁa’a

o dsa@&'a%Sd

20,

 4) A-v,

-gen #Ja&sdod a!oﬁn?oa’om;f@ #@o&’nd

6503305353 Q‘B@N
1) A =0 633"@’3 R:éc,e)
2) AZT Eﬁ)@) R%0

3) Ady R ~0R% R0 =y nAo:om

aa&ame’d

4) AsH®) R o0RR R0 &S R A o,
omodRRy

e - | 'd:s: "‘eé-llab aémo&m mm

- Xo0IRT WB‘UE’SZ& ﬂbdaé» L

e -l
NCON PRSNG|
R, B S

wed ~ |
A. ug&&ee&:aﬁ A
B. mﬁeiazéone‘ ii.

. ooulereRd ‘oobT doRozse
C. m,uae Bae® il DBHAY wRNS
v BB nimrdehn
Sl e modmeds
D. eRBARTT  iv. 05T BUER -
- v soBeedgR Hedems
1) A=ii, B-v, C-i, D=il
2) A—ii, . B=ii, C=iv, D~i
3) A-v, B-i, "C-ii, D-iv
B—iv,, C—i, D~lii
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'»3@5 YVATREIT
~ eorineh ava:ﬂm zac::),uzwa:)
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30 The recessive character |n pea plant in the |

31

followmg

1) Vlolet flower ',

2) ‘Axllla}_fy,,t@yyer. B
9) Round seed

4)a‘Green seed

Assertlon (A) The walls of the ventncle are
thlcker than the walls of the aurlcles

30 =4 @#hﬁﬁ}ﬂ%‘f@ mmté “xld@'d Cfa&)?@
‘(recesswe) rbsa ' ;

Illlllllllllllllll ||I||I|Il|ll||Ill|l|ll||llllllll|l|ll

1) 339 20

-2 mﬁoﬁp %o%aeé m
) cbozsaas zbezs

31.

’ : Reason (R) : The ventricles have to pump' _‘ :

- Select the correct optlon from the given

blood to long dlstances and various organs.

alternatlves
1) Ais true and R is false

2) Ais false and R is true -

C 3) Both A and R are true and R

3 32-

explams A

4) Both A and R are true but R does not |

‘ explam A

The presence of followmg kind of bacteria

in water indicates contamination by dlsease
causing mlcro-ogamsms o ‘

1) Agrobacterum -

~2). Coliform

"' '8) Pseudomonas

‘33

- 4) Lacto‘bacillus N

Read the followmg statements and select ,

- the correct optlon

A: lmblbltlon isa speclal type of phenomenon
) by wh|ch plant cells absorb water. v

B: The rupturmg of seed coatin germmatmg

? Aseeds is due to imbibition.
1) Both A and B are true
" 2) Both A and B are false

3) Ais true ‘and B is false

- 4) Ais false and B is true
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34.

' SAT(K-1 0)

Identify the correct statements about
chlorophyll.

A Chlorophyll is highly sensitive to Ilght

~B. 'There‘are varieties in Chlorophyll

35,

36.

C. The formation of Chlorophyll does not
depend on the exposure of the plant to
light ) R

D. Nutritional deflciencles of mmerals
cause loss of chlorophyll

11) Aand C onIy

2) A, BandDonly -

~ 3)B,CandDonly “ "

4) A and D only

-Haemophilia is mor_e_common in males

because it is a

. 1) recessive character carned by

Y. chromosome

2) dominant character carrled by
Y chromosome -

3) dominant tralt carried by X chromosome

~ 4) recessive trait carried by X chromosome

A person was found to have reduced level
of reabsorption of water and glucose due to
kidney damage. The following labelled part
would be the site of damage for this patient.”
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SAT(K-10)

37 Examme the followmg statements and select

" B:Gibberlins are used to Increase the length |
' of grape stalks.

the correct opt|on ’ A
A: Ethylene promotes fruits npening

' 1) Ais true and B i lSV fal_se“ -

2) Als false and B is true
3). Both A and B are true

' 4) Both A and B are false

38,
" blood.

ldentlfy the correct statements about

A. Platelets are produced in the bone
"~ marrow. :

" B. When haemoglobin ‘c'ombines with

~ oxygen it forms carboxyhaemoglobin.

~ C. Calcium ions play an important role in

: clottmg of blood.

'D. Fibrins are formed by the conversion

- of ﬂbrmogen by the enzyme thrombln

"’1) AandBonly
' 2) B, CandDonly
| 3) BandDonly ‘

4) A,CandD only

39.

A farmer wants to save his crops trom heavy

rain and likes to have early flowering. The

' technlque that could be used in this situation

40.

, 1) Photoperlodlsm "
- 3) Phototropism -

' 2) Vernalization
4) -Polyplmdy

Assertion (A) Genetlc vananon is

: dlsadvantageous toa populatlon

' Reason (R): It does not enable any mdmdual

to adapt to the envnronment

. Select the correct option from the glven

alternatives. -

1) Both A and R are true and R explains A

' 2) Both Aand R are false  °

3) Aistrue-and Ris false

 4) Als false and R is true
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HISTORY & BUSINESS STUDIES.

U 41

'”ﬂ]42

- factory: -

-43.
C slgned between British and Native States.
" A. The treaty of Salbai, the treaty of

I .».C. The treaty of Amritsar, the-treaty of : -
" Mangalore, the treaty of Salbai and the |

" 'D. The treaty of Amritsar, the treaty of

The Iocatlon shown on the map of Indla was

,Issued a royal permission to English East .

. Select the correct optron from the gwen
o altematwes ‘ : . '

) Alstrueﬂlsfalse )

a French Colony :

'2) Goa . N
4 Pondit:heny

1) Chandranagore A
3) Mahe

Asserhon (A) The Mughal Emperor Jahanglr

India Company to estabhsh their warehouse :

Reason (R) Enghsh Company establlshed :
their first warehouse factory at Surat

2) R is true A i is false

) Both A and R are correct. R |s the correct:
explanatlon of A

4) Both A and R true but R is not correct |

“explanation of A \ A

The correct chronologlcal order of the treaties:

Snrangapatna, the treaty of Amritsar and ,
“the treaty of Mangalore.
‘B. The treaty of Salbai, the" treaty of
.=~Mangalore, the treaty of Snrangapatna_ 1
and the treaty of Amritsar. - '

. _treaty of Snrangapatna

_ Salbai, the treaty of Srlrangapatna and
_ the treaty of Mangalore . '
1A ~12) B
3 C 49D
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© 44. TheList‘A’ contains the great personalities

and the List ‘B’ with their works. The correct |

N option that matches’ exactly.

A , ' B
~ A. Montesque = I. Uncle Tom’s Cabin
B. Rousseau ii. Common Sense.
_C. Mazini * 1ii. The Spirit of Laws
D.  Harriet Stowe iv. Social Contract
, " 'v. Italy Austria Papacy
A B cC D : :
SRy v v
2 v i i
Y v w0
4) i v iii i

‘45 The correct provnelon passed by the British -
‘Government in India in their chronologlcal _

" orderis

A. Supreme Court of Judlcature was '

- established at Calcutta. o
B. A new institution named ‘Board of

Controllers’ conmstmg of snx'

"~ Commissioners was started.
C. The post of Governor General was
changed in to Viceroy.
- D. Representation of the Reglonal Councll
was allowed Indians through election
based on religion.

)yD C+ A B
- 2):'A° B .. C D
3y B..A D C

‘4c D B A
46 Choose the correct statements with reference

" to the Indian Judiciary system before the
- British rule In northern part of India.
o A All indlans were treated with only the
. Sharlyat laws of Mughals
5 Criminal eourts were under the control
of Qajis -
" ¢. Civll courts were called ‘Diwani Adalat’

'D. Hindus were dlspensed ]ustlce as per
. the Hindu scnptures

1) AandBonly -
2) A,BandConly
3) Cand D only

4) B,CandDonly -
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SAT(K-10)

47. The correct statement related to Sathya

Shodak Samaj is

A. The samaj started the Cow Protectlon
_ Association

. B. The samaj opened the schools for

shudras and girls -

C. The samaj advocated polythelsm

" D. The samaj encouraged vedic educatlon

- 3) C
48.

1) A 2)B

4D

Select the correct order of events related
to freedom struggle starting from North to

,South as shown in the map.

. ’A_. Dandi Sathyagraha took pléce

49,

.~ B. The Moplah uprising against British

C. The Declaration of Poorna Swaraj
D. The Quit India Movement was launched'

i W v
"C A D B
2B D A C°
3D C B A
H4#A B C D

Thé'chrbfnologlcal order of the incidents of
the first war of Indian Independence.

" A. The Queen of Britain passed a Declaration
: assuring a Stable Government for Indians. -
B. A group of soldiers declared Bahadurshah

Zafar as the emperor of India.
C. The Sepoys of Meerut revolted against their
- British Officers.

~ D. Tantia Tope was executed by Brltlsh at

Shivapuri.
17 D . C B A
2 B A C D
3) A D B C
4 C B A D
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50 The correct group of statements related to

.. the functions and charactenstlcs of banks.

51

52.

A Acceptance of deposﬂs and deals with

‘money. :
. Issuing national savmgs certmcates
-Issuing letters of credit gurantee.
. Discounting of bills.
5"1) AandBonIy '
2) A, CandD only
3) AB and C only
- 4) C and D onIy

U'Q _t.u.

Assertion (A) : The R.B.I Iends money to |

commercial banks in the events of any
shortfall of funds.

Reason (R}1 The R.B.I. controls the supply
of money through reverse repo rate.

Select the correct option from the glven ,

alternatives.

A. A is correct and R is the correct :

explanation of A
B. Ris correct and A is wrong
C. Both A and R are wrong

D. A is correct and R is not the correct

explanatlon of A. A .
1) A T 2)B-
3.C- .ot - 4).D

Observe the following pictures of

“Entrepreneurs and identify them in correct
~order of thelr achlevements

S IR R (| A

A Successful in getting listed the company ,

~.- first on NASDAQ.

VB.__ Established a.small scale Anand Milk

~ Dairy (Amul) in Kaira District.

Al - Awarded the best entrepreneur of the

_ year 2001 by the Ernest Young.
~D. Took the advantage of open sky policy
- ofthe government and started JET
o ii

iii iv

‘9B C D A
2 A C B D
3y B D C A
C B A D

-4)
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53. Select the correct statements regardlng the

advantage of regrstratron of partnershlp

" firms.

54.

A. A registered firm can file a suit in court |

of law agamst thlrd party

B. A registered firm can file a case agalnst
_ the other partners agatnst the |oans they
owe to the firm. e

“C. ‘Partnership firm 'partner's' ¢an not file

case agamst their own firm.

D. A regrstered partnershrp flrm can not be
dlssotved

) _,A and C only.

2) Cand D only |

- 3) Dand A onlyv

) AandBonly ..

Assertion (A): : Service charg'es are coliected

from current account holder by the banks. -
Reason (R) : This account is opened by

business men only for the: devetopment of

- their busmess

Select the correct optnon from the given
alternatives.

1) Riscorrect, Ais wrong o

2) Both R and A are wrong

-~ 3) R is correct and A |s exactly related
"~ toR

"4) Ris correct and A'is not exactly related to R

~ 55, The correct ‘option orgamsed on fthe ’basis

of evolution and growth of commerce
A. International trade stage .
B. Money economy stage .

C. Agricultural stage

D. Pastoral stage

YA B D- C
2B A C - D
3D .C B. A
mec B A D ‘

17
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GEOGRAPHY AND SOCIOLOGY

.56, Choose the group of correct statements
h related to Mica. '

i ls an |mportant non—metalhc mmeral
It can be ea_slly split into very thin.

Itis transparent and heat re'sistant.’

Itis used in electncal mdustry, telephone

aeroplanes L
“1) abandc . 2) aandd
3y a,,b.anded - 4) ab,candd

o 4?57. Choose the correct groupof statements with

_respect to “The Siwalik Hills”.

a. Theyarethe outer most ranges or foot hills -

" -of the Hlmalayas

b_.M;They are the lowest range of the .

o 'Hrmalayas .

- ¢..Their height Is 600 to 1500 mts and width
~ is15t0 150 km. :

© ¢ %4, They extend from Rajasthan to Assam;

z1)va,bandc 2)bcandd
S)abcandd . 4)acandd

58 Match COIumn ‘A’ with 00lumn‘ ‘B’ and

choose the correct matchlng

A Coiumn ~ A :,‘Column -B
~yr.-8: Karnataka. 1. Kala baisakhis . .
- {y b. Uttar Pradesh . Mangoshowers
| c. WestBengal lii. Coffee blossom

 icd. Kerala . iv. Andhis

-+« ... V. Teablossom
a b c¢..d '
1 odi 0 0 v

2) i i W v

3 i v i i

4 v i i v
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59. Read the. followmg statements and select

the correct option.

tisa method of farming in wh:ioh a large

per unit of land.

Under this type of farming, land is
‘ cultivated throughout the year.
. Farmers try to raise two or more crops to

~get maximum productlon from small Iand

holdlngs

It is common in the fertile and |rr|gated -

areas of the country

B ‘1) Shiftmg farmlng

2)

Se
4@  a.

v b,

oA
Ll
.o

Humid farmlng

, “A3) Plantatlon farmmg

4) lntenswe farmlng SRR

h 60 Match Column ‘A’ with Column ‘B’ and

: choose the correct answer P

Column—A Column B .

Yamunotrl - I Valley -

Armakonda. il Hill statlon

Kuu lil.'Glacler o
'Ranll(het. e iv. Peak -

A Ground watr'_ .

W
B I R R I
3 o i i
4) i ;iv. RN R
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| 561{_ ,Match Column ‘A’ twth 00lumn ‘B’ and-

B ‘choose the correct answer
i 00lumn A

. | . Column ~B.
A Black buck

i. Extinct

: Ba A5|at|c elephant - ii, Rare
3 E “»C Andaman wtld Pig

".D. Hrn)alayan prown bear iv. Vulnerable

v. Endemic

1) A-ii. B=v. C—| Dt N
- 2) A—m B~iv C v D—ii
-"”-*'f’fs) A-v B-ii C-iv D-u/ﬂ’
' ,4) A—iii B-iv: C v D—l :

62 The Hrmalayan yew specles |s in danger‘ :

because .

1) A chemlcal compound called ‘Taxol’ is |-

extracted from the bark to cure cancer«/1

2) The hlde of the anlmal is extracted for

producung percusswe mstruments

3) The birds feathers are colourtul and they R

. are collected by killmg

4) The msectICtdes have brought adverse:‘_;

effects on them.

63 Read the followmg statements and * select
~ the correct optlon

A Durmg the time ot Chandragupta Maurya, B
’dams, lakes and nrrlgatnon systems were |

) extensrvely

B. In the 14" century, the tank in Hauz Khas |
in Delhi was constructed by litutmish for

o supplymg water to Siri Fort area. h
1) A |s false and. Bis true/ "

2) Ais true and Bis false

3) Both A and B are true

', 4) ,Both A and B are false

_ ;'iii;.‘ "End_an'gered o R
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. 64. Read the folAIowmg statements and write the

correct ‘option with whlch all those I|nks--

& A Th|s soilis smtable for cultlvatlon of coffee

‘with adequate doses of manures and .

£ *fertillzers

B._ 'Thls soll is malnly found in Karnataka
» erraIa, TamII Nadu, Madhya Pradesh and

. the hilly areas of Odlsha and Assam

C. -Humus confent in th|s s0|l is Iow

'D. Itis found in areas wrth h|gh temperature

and heavy ramfall o
1), AIIuwaI Soil . 2) BlackSoil -

3,) Red Soi 4 ,Laterite Soil

f 65 Choose the correct type of s0|l W|th reference ,

to: the shaded areas in the glven map

L 1) Mountaln Soﬂs

' 2) Black Soils
3) Laterite Soﬂs- '

4) Red and Yellow Soils - -
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66. Choose the correct group of answer

~with regarding Child Adoiescent Labour
» Prohibltlon and Regulatlon Act.

~"a. No children below 14 years shall be
employed in any sector for any reasons.

- b. As per this Act, children between the age |
~ of15and 18 are considered as Ado|escent 1

‘ chlldren

c. Accordmg to the Article 14 of this Act,afine
- ofrupees 50,000 and2years imprisonment -

-is imposed on violators.

d. if children below 14 years are engaged
* in any household activities, the parents
* and the head of the family is declared as

offenders. . - -
~ 1) aandbonly 2) a,b,candd = |

3) a,bandconly - 4) candd only

. 67. Arrange the following Acts in Chronological

order. A
_ a. Civil Rights Protection Act.
~ b. Untouchability Crime Act

c. Child Adolescent, Labour Prohibition and

‘Regulation Act.
d. Protection of Chlldren from Sexual
Offences Act. . . ,
1) a,b,c,d 2) b,a,,c,d
3) badc 4) ¢,b,da

o 88. “Cuiture Is that complex whole which

includes knowledge, bélléf,» art, rules

~ and regulations, traditions and any other -

éapabilities earned by the human being as
a member of society"‘ it was defined by

1) Malinowski ’

2) E.B. Tylor

~ 3) Max Weber

4) Emile Durkheim

22
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69.. Choose the correct option relating to

untouchability Crime Act.

" . A. The Government of India has implémented

- this Act in 1955.

; ‘ B. This Act was renamed as ‘Civil Rights

Protection Act’ in 1976.

| C. Accordmg to thls Act, practlce of

untouchablllty Is a crime.

D. This Act consmted,,of certaih mfstakes
which were amended Ia;‘ter;

1) Aand B

2) BandC

3) B,C ahd D

4) A,B,CandD

70. In Column ‘A’ the works and in Column ‘B’

their authors are given. Choose the correct

matghihg. _ )
Column-A . Column~-B

a. Buddhaand i G.S.Ghruye
his Dhamma o

b. Indian Saints Il. Iravati Karve

c. Institutions and iii. A.R. Desai
Relationship

d. Indian rurai iv. C.Parvathamma
Sociology o o
| v. Dr.B.R. Ambedkar
a b c d -

1) v, i i v

2) ii‘ il v v

3) i iv. v

4 v i i i
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71 Whlch of the followmg statement/statements

is/are not correct related to the Presment of
_India ? Co -

h - a appomt the Governors to the States

'b. addresses the joint session of both the |

Houses of Parliament

e appoint the Chief Ministers of the States
Sode nommates 12 members to the Rajya

" Sabha

Choices : . ,

"1) aandconly - 2) b and d only
3) conly 4) aonly

“72. The President of lndla may declare ‘Natuonal '

Emergency’
a. External aggression
b. Internal disturbances
¢. Natural disasters

T d. Fmanclal crises
Choices: =
1) aandbonly - | 2) bandconly

3) candd only. 4)'aand ¢ only

,._,:73.‘ Identify the correct chronological sequence

in which among the following became'

Secretary Generals of UNO
i. Antonio Guterres i. U. Thant
ili. Kofi Annan : ,iv. Boutros Ghali

- Choices: o
) iy i v 2) ii, iv, iii, |
3) iii, iv, i, il 4) v, i, i, lii

'74. Choose the correct sequence to indicate the
. following statements as True (T) or False (F).
a. RTlis an implied Fundamental Right

b. RTI has been included in Article 19(1) of
the Constitution

¢. RTlcame into force on October 12, 2005
Choices : ’
1) FFF

| 2) TIT
3) FFT

“4) FTT
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~ 75. Read the foIIowmg statements and select
the correct option. :

Assertion (A) Directive Principles are

enshrined in the Constitution for the .

Government Admlmstrauon,

Reason (R) : People can question inthe court. .

for not implementing Directive Prmcrples
1) Alis false but Ris true
2) Risfalse but A is true

3) AandRare true and R is correct explanation
of A ’

4) A and R are true but R is not correct '.

explanation of A
76. Indicators involved In Human.Development
Index (HDD) o
) Nanonal Income, Employment Rate and
- ‘SexRatio
2) Per Capita Income, Life Expectancy and
Literacy Rate of Women
3) Life Expectancy, Literaéy Attainrnent and
Purchasing Power of Peop!e I'
4) National -Income, Purchasmg power of
People and Sex Ratio

77. identlfy the correct statement from the
following. -

1) As the Ilteracy of people increases, birth

rate also increases .

- '2) As the literacy of peop!e mcreases birth
rate decreases

3) As the literacy of people decreases birth

rate also decreases

4) There is no relation between literacy of l

peopie and birth rate

25
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.78; COnstder‘ the foltowmg aspects of Ftscall |
Ftscal} (Interest]:{ B

. Deficit

’, : A primary Difrcit -{

Deficit /| | Payment

: B Revenue Deﬂcrt . o
(" Total Total
[Revenue] (Expendtture}
- Reference to the above -
1) ‘A’is correct, ‘B’ is not correct.

2) ‘B'is correct, ‘A’ is not correct

3) Both ‘A’and ‘B’ are correct

) ) Both ‘A and ‘B’ are not correct

79. Aspects of Money Supply Concepts are

*_ given below. »
a. Currency Notes
b. Cornsv A
“er Sévingsdeb‘o‘s'its' in Post Office

d. Time/term deposits of Commercial Banks

* The Group which classifies the above aspects L

. as ‘Narrcw and ‘Broad’ Money respectlvely
1), bande, de

2) a, candb df:’ o

‘3) a,dandb,c -

4) b danda c_“g’

- 80, Statisttcs rel‘a:ted, to 2011 census are given

 below. Identify the correctly matched ones.
v ' V L|st A Llst—B
:M'A Work partrcrpatron rate i 30.7%
o B Peopte hvmg in vitlages u 'j65.46%

,C Female Itteracy rate il 39.8%
D 0 14years chrldren : V;itI.A68.8°‘/o
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c ) A w,'B i, G D-—it\‘:

, 2) A —iii, —iv; c- ii, “"D’—-(i'"-l |

"'3)”A |v,‘B—u, “‘C= i,"-t)'-i‘ii

r‘4) A=lii, B=iv, C =i, D-—n )
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MATHEMATICS

If the sum of ‘n’ terms of an. anthmetncy
progressmn isS,; 3Q+ 2n2 then its common
difference is- . g5 6. l% G+)2 ’

oy

The value of

Y1 o 42
If'the'gréphs of x -y = 2and kx+y =3

quadrant then the value of k is

1) eq‘ual to ~1

2) QTeatér'than -1 "C~<j =2

In the given’ circle with centre ‘0’ K andL |

are the mid points of equal chords AB and

~ CDrespectively. |OLK = 25° then the value -
© of [LKB is equal to o
N . : ‘ ) $‘ /\~ - N T
1) 1250' § 2) 1150 :
3) 105° © 4) 90>

. A tangent of length-“L’ is drawn from a ‘

pomt ‘A’ toa clrcle of radius ‘r’. The length

4

of tangent is — of r, then the shortest

: distance from pomt A to circle is.

: “or. .
1. 2 o
), 2 Y 3 o
3 L o \4)_%
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86. In the figure a semicircle with centre ‘O’ is
drawn on AB. If |ABP = 60° then the ratio of
larger to smailer shaded region is ‘

A

”74n—2J§
2n—2J§
2) 4n—3J§
3n—3J§
4n-3./3
2n—3J§

2n-243
n—2J§

3)

4)
i . C . . 5
87. The value of ‘C’ if [fz—s 14] is the mid point
of the line joining the points (-3, 8) and
(-15,20) is %
12 <
3) -18

2%3 2) -9

4) 15

~ 88. If the line segment joining (2, 3) and (-1, 2)
| is divided internally in the ratio 3 : 4 by the
graph of the equation x + 2y = k then the
value of ‘K’ is

5 31
1) 5 2) 3

7 ) 3
3 3 4 A

7 7
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o 89. If (sme + cosece)2 +/(cos6 + sech)’ = -

91, ,|f the roots of x2 - px +. q = 0 are twof

e pdrfferent colour is -

94, The. strmg of a kite of length 100 m- makesf

- 95. The tip of a partially broken tree touches the |

\
\ .

o _H' ) Ao
e ot AT 4
Y\L* s B0 e 2%99‘

tan26 + cot?0 + k then the value of ‘K i is .

19 2).7
- 34 438
90. If (3 smO) + (5 cose) =. 5 then the value of
(5 sme) (3 cose) is o .;",) -
RETE 2) 13
3 5 4 x2

consecutive integers then the value of.
© pt=4qis . :

1) 4 F &7/

':‘, 3) 2 .
92. The mean of n’ numbers ofa series is X lf“ '
- the sum of flrst (n - 1) terms is ‘k’ then the,.» :

n™ number is T : ‘
1) X -k
@ X-nk

"2) 8.
At

) n (X k)
93. Three squares of achess board are selectedi -

at random. The probability of getting
two squares of one colour and other of a

o 121 R R -2
r) 2 »~ 4 )vs

-an angle of 60° with the horizontal ground. - |’
Imagrn'g that there s no'slack in the strlng,
the height of the klte from the ground is

1) 50J"m S 2) 1OOJ—m :
3)50J—m 'm4)100m'

ground at a'point 10 m from foot of it and ’
- makes an angle of elevation of 30° from the ,
ground T hen the height of the tree is

2) 10J_m

4y 3043 m
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- 100.

3 10.8cm

1) 1:2
- 2..;1:,,

)

g

ifl, m and n are zeroes of the polynomlal 3

f(x) 2x3 + 5)(2 + Bx + 10 then the value of

—t— is
I m n- '
S L ivng 1.9 .
1y -2 ] o) _8
5 - 2
- -5 _£
3) 4) 5

The: perﬁneters of similar triangles AABC-

“and ADEF are 60 cm and 36 cm respectively.

If BC = 18 em then measure of EF is
2) 30cm
4) 8cm

1) 1.08.cm

. If PQRS is a square whose Qertiqes are on’

the sides of a square ABCD then the ratio of
the areas of square PQRS to square ABCD is

RN
R

“The voluine of a burette of height 82.1 cm
 obtalned by attaching a hemispherical nob
on one side of a cylinder of height 80cmis

1) 11 Lt

4 2) 1.0Lt.
3 12l

4) 14U,

‘A conical vessel of radius 6 cm and height
- 8 cm is.completely filled with water. A metal | -

sphere is lowered into the water. The size of

-the sphere is such that when it touches the
‘inner surface, it just gets immersed. Then,
“-the fraction of water that overﬂows from the
‘Mconlcal vessel is
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